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IE {3 K % ouT I N TOTAL] HDCP NET
& | gz 52 59 111 36 75
e R 49 52 101 25.2 75.8
3 fz| E38 A 52 48 100 24 76
4 | BRI EH 50 52 102 25.2 76.8
5 fiz] 2T #HE 47 55 102 25.2 76.8
B-B| EA=EN 85 71 156 36 120
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IE i K % ouT I N TOTAL] HDCP NET
& | IR IE 39 38 77 4.8 72.2
e BEERE 43 42 85 12 73
3 fz| WE 28F 42 46 88 14.4 73.6
4 i YN S 49 50 99 25.2 73.8
5 fiz| MM IFE 50 48 98 22.8 75.2
B-B i &5l 60 70 130 36 94
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IE i K % ouT I N TOTAL] HDCP NET
& | FBER BAEE 40 43 83 10.8 72.2
e L 52 49 101 28.8 72.2
3 | ZH#&EH 50 51 101 28.8 72.2
4 i AIEF = 40 45 85 12 73
5 fi| PUER IEfE 55 48 103 30 73
B - B| A& @ 68 68 136 36 100
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IE i K % ouT I N TOTAL] HDCP NET
& | vl BA 40 39 79 8.4 70.6
@ EM B— 42 50 92 20.4 71.6
3 fz| ®EEE 48 42 90 16.8 73.2
4 | Bk RE 45 48 93 19.2 73.8
5 u] EAR 43 50 93 19.2 73.8
B-B AKX IE 64 59 123 36 87
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IE {3 K % ouT I N TOTAL] HDCP NET
& Bs| AL mE= 37 41 78 6 72
#Ep A EE 42 38 80 7.2 72.8
3 fir| #x HEAEB 46 43 89 15.6 73.4
4 | BRBEE 38 49 87 13.2 73.8
5 fiz| SEME #H— 42 38 80 4.8 75.2
B-Bl ®HR%E 51 53 104 24 80
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